
Solution for Worksheet 2

1. Answer: 9 letters

2. Answer: 10 letters

3. Objective:

(a) 43

(b) Answer: 56

(c) 11

4. Subjective: Answer: Some number names are longer because they have more
syllables or because they are made up of two parts, like forty-three.

5. Answer: Twenty-five

6. Answer: Answers will vary.

7. Answer: False

8. Answer: 10 numbers

9. Group the following numbers:

� Less than 5: 5, 4

� More than 5: 16, 22

10. Match the following:

� Answer: 43 – Ten letters

� Answer: 17 – Nine letters

11. Answer: 10 letters

12. Answer: 9 letters

13. Creative Question: Answers will vary.

14. Answer: Ninety-nine

15. Answer: Sixty-three
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